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Chapter 8 Applications
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2. Ecolsgy In 50 days. 2 water hyacinth can generate 1000 offspring {the number
of plants is multiplied by 10003, (you will start with 1)
2. How many hyvacinth planis could there be after 130 days?
B. How many hyacinth plants could there be after 200 day
¢. Write a function to model the situation.
3. A population of 6000 doubles in size every 10 years. Which equation relates
the size of the population ¥ to the number of 10-year periods x?
F. v = 8000 - 10% Gy = 10 2%
H.y = 6000 - 2% Ly=2-100"
4

a. Write a function to model the situation.

b. How many will there be in 80 minutes?

¢) How many will there be 2 hours?

5. Your science class is collecting cans. You start with 150 cans. Your
collection triples every week. How many cans will you have collected
WU B .
after 7 wk? What was the function?

Madical Care Since 1995, the daily cost of patient care in community hospitals in
. f f
the United States has increased about 4% per year. In 1995, such hospilal costs
were an average of 3968 per day.

a. Write an equation to model the cost of hospital care since 1993.

b. Use vour u;uauon Lo estimale the approximate cost per day in 2010.

7 a, Suppose your community has 4512 students this year. The student population is
growing 2.3% each year. Write an equation to model the student population.

b. What will the student population be in 3 ye

8. wiik fon Since 1980, the number of gallons of whole milk each person in
the U ,mtud States drinks each vear has decreased 4.1% each year. In 1980, each
person drank an average of 16.5 gallons of whole milk per year.

b

3. Write an equation to model the gallons of whole milk drunk per person.

i b. Use your equation to find the approximate consumption per person of whole A
milk in 2000.
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Q. Siatistics In 1990, the population of Washington, D.C., was about 604,000 people.
Since then the population has decreased about 1.8% per vear.
a. What is the initial number of people?
b. What is the decay flactor?
¢. Write an equation to model the population of Washington, D.C.. since 1990.
d. Suppose the current trend in population change continues. Predict the
population of Washington, D.C., n 2010

10. % FivaCE You deposit $2000 in a bank account. Find the balance after

4 vears for each of the following situations. {Review 8.1 for 83}

a. The account pays 7% annual interest compounded quarterly.

b. The account pays 5% annual interest compounded monthly.

11. $20.,000 deposit carning 3.5% compounded quarterly, after 10 years

12, $4000 principal earning 6% compounded annually, alter 5 years
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